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(x—4)(x—T7T)=(x—-4)M
=xM—-4M
=x(x—7)—-4(x—-17)
=x’—Tx —4x+28
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=x’—-11x+28
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(1) (x—2) (x—6) (2) (x—4) (x+5)
= (x—2) M = (x—4) M
=xM—2M =xM—4M
=x (x—6) —2 (x—86) =x (x+5) —4 (x+5)
=x’—6x—2x+12 =x?’4+5x—4x—20
=x*—8x+12 =x’4+x—20
(3) (2a+1) (a+4) (4) (3x+5) (4x—7)
= (2a+1) M = (3x+5) M
=2aM+M =3 xM+5M
=2a (a+4) + (a+4) =3x (4x—7) +5 (4x—17)
=2a’+8a+a+t+4 =12%x%*—21x+20x—35
=2a’*+9a+4 =12x%x%?2—x—35
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(3a+2b) (2a—"b) DOOE®@DNEIZ T hbE 5

=6a® —3ab +4ab —20b? FEEEZE DD

=6a‘+ab—2b?
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(1) 6a*+9ab+4ab+60b" (4) 16x*°—2x y—24xy+3y2
—6a’+13ab+6b?* :16x2—26xy+3y
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1) a®+ab—a+ta —|—b—1 (4) 3x*°—2xvy 3xy+2y +9x—6y
=a’t+tab+b— =3x?’—5xy+2y*+9x—6y



